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SRE 6 6 +4 12 0 19 13.5 1.1 11.5 78 176 300 10 SRE 6
SRE 8 8 s 15 =11 24 17.5 1.1 14.3 137 314 300 20 SRE 8
SRE10 10 19 29 0 22 0 1.3 18 157 372 300 39 SRE10
SRE12 12 +3 21 0 30 —02 23 —02 1.3 20 274 588 300 42 SRE12
SRE13 13 6 23 —-13 32 ’ 23 ’ 1.3 22 323 686 300 56 SRE13
SRE16 16 28 37 26.5 1.6 27 451 882 250 97 SRE16
SRE20 20 +3 32 0 42 30.5 1.6 30.5 647 1,180 250 133 SRE20
SRE25 25 _7 40 16 59 0 41 0 1.85 38 882 1,860 250 293 SRE25
SRE30 30 45 64 —03 44.5 —03 1.85 43 1,180 2,650 200 371 SRE30
SRE40 40 +3/—8 60 0/—19 80 ) 60.5 ) 2.1 57 1,960 4,020 200 778 SRE40
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